

PROPOSED PROBLEM

DANIEL SITARU - ROMANIA

4919. If $A, B \in M_6(\mathbb{R})$ are matrices such that:

$$A^2 + B^2 = AB + A + B - I_6$$

then

$$\det(BA - AB) \geq 0$$

Solution 1 by editors.

Let $\omega = \exp(\frac{2\pi i}{3})$; then we have $\omega^3 = 1, 1 + \omega + \omega^2 = 0, \bar{\omega} = \omega^2$. Observe that $I_6 + \omega^2 A + \omega B = \overline{I_6 + \omega A + \omega^2 B}$; it follows that

$$\begin{aligned} & \det(I_6 + \omega A + \omega^2 B) \det(I_6 + \omega^2 A + \omega B) \\ &= \det(I_6 + \omega A + \omega^2 B) \cdot \overline{\det(I_6 + \omega A + \omega^2 B)} \\ &= |\det(I_6 + \omega A + \omega^2 B)|^2 \geq 0 \end{aligned}$$

On the other hand, by the hypothesis, we calculate

$$\begin{aligned} & (I_6 + \omega A + \omega^2 B)(I_6 + \omega^2 A + \omega B) \\ &= I_6 + A^2 + B^2 + (\omega + \omega^2)(A + B) + \omega BA + \omega^2 AB \\ &= AB + A + B - (A + B) + \omega BA + \omega^2 AB = \omega(BA - AB). \end{aligned}$$

Now the conclusion follows from taking the determinant on both sides of the above equation. \square

Solution 2 by editors.

Write $I = I_6$. Let $X = A - I$ and $Y = B - I$. Then the hypothesis implies that

$$(X + I)^2 + (Y + I)^2 = (X + I)(Y + I) + (X + I) + (Y + I) - I,$$

that is, $X^2 + Y^2 = XY$. Furthermore, note that $BA - AB = YX - XY$ and

$$(X + Y)^2 + 3(X - Y)^2 = 4(X^2 + Y^2) - 2(XY + YX) = 2(XY - YX).$$

Thus,

$$\begin{aligned} \det(BA - AB) &= \frac{\det((X + Y)^2 + 3(X - Y)^2)}{(-2)^6} \\ &= \frac{\det(X + Y + i\sqrt{3}(X - Y)) \det(X + Y - i\sqrt{3}(X - Y))}{2^6} \\ &= \frac{|\det(X + Y - i\sqrt{3}(X - Y))|^2}{2^6} \geq 0 \end{aligned}$$

\square

Solution 3 by proposer.

Let be $\omega_{1,2} = \frac{-1 \pm i\sqrt{3}}{2} \in \mathbb{C}$ and $\omega \in \{\omega_1, \omega_2\}$.

$$\omega^2 + \omega + 1 = 0 \text{ and}$$

$$(1) \quad \omega \neq 1; \omega^3 = 1$$

$$\omega^4 = \omega^3 \cdot \omega = 1 \cdot \omega = \omega$$

$$(2) \quad \omega^4 = \omega$$

$$|\omega| = 1; \omega \cdot \bar{\omega} = (|\omega|)^2 = 1$$

$$\bar{\omega} = \frac{1}{\omega} = \frac{\omega^2}{\omega^3} = \frac{\omega^2}{1} = \omega^2$$

$$(3) \quad \bar{\omega} = \omega^2$$

$$\overline{\omega^2} = \frac{1}{\omega^2} = \frac{\omega}{\omega^3} = \frac{\omega}{1} = \omega$$

$$(4) \quad \overline{\omega^2} = \omega$$

$$\omega^2 + \omega + 1 = 0 \Rightarrow \omega^2 + 1 = -\omega$$

$$(5) \quad \omega^2 + 1 = -\omega$$

Let be: $C = A + \omega B + \omega^2 I_6$

$$\bar{C} = \overline{A + \omega B + \omega^2 I_6} = A + \bar{\omega} B + \overline{\omega^2} I_6$$

By (3); (4):

$$\bar{C} = A + \omega^2 B + \omega I_6$$

$$\det(C \cdot \bar{C}) = \det C \cdot \det(\bar{C}) = \det C \cdot \overline{\det C} = (|\det C|)^2 \geq 0$$

$$\det((A + \omega B + \omega^2 I_6)(A + \omega^2 B + \omega I_6)) \geq 0$$

$$\det(A^2 + \omega^2 AB + \omega A + \omega BA + \omega^3 B^2 + \omega^2 B + \omega^2 A + \omega^4 B + \omega^3 I_6) \geq 0$$

By (1); (2):

$$\det(A^2 + \omega^2 AB + \omega A + \omega BA + B^2 + \omega^2 B + \omega^2 A + \omega B + I_6) \geq 0$$

$$\det(A^2 + B^2 + I_6 + \omega(BA + A + B) + \omega^2(AB + A + B)) \geq 0$$

By hypothesis:

$$\det(AB + A + B + \omega(BA + A + B) + \omega^2(AB + A + B)) \geq 0$$

$$\det((1 + \omega^2)(AB + A + B) + \omega(BA + A + B)) \geq 0$$

By (3):

$$\det((- \omega)(AB + A + B) + \omega(BA + A + B)) \geq 0$$

$$\det(\omega(BA + A + B - AB - A - B)) \geq 0$$

$$\det(\omega(BA - AB)) \geq 0$$

$$\omega^6 \det(BA - AB) \geq 0 \Rightarrow (\omega^3)^2 \cdot \det(BA - AB) \geq 0$$

By (1):

$$1^2 \cdot \det(BA - AB) \geq 0$$

$$\det(BA - AB) \geq 0$$

□

MATHEMATICS DEPARTMENT, NATIONAL ECONOMIC COLLEGE "THEODOR COSTESCU", DROBETA
TURNU - SEVERIN, ROMANIA
Email address: dansitaru63@yahoo.com